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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

0.04

0.02

0. 00 -

—0. 02 ~

-0. 04 ~

—o— dFVI
—0— dFVO0

ap—a——ab—ab—0d & & & & & & & OO & & ;& & & @&

37.5

40.0

42.5

45.0

day

47.5

50.0

52.5

55.0

57.5

300. 0

297.5 A

295. 0 ~

292.5 A

290. 0 A

287.5

285. 0 A

282.5 A

—&— DUC

37.5

40.0

42.5

45.0

day

47.5

50.0

52.5

55.0

57.5

194

192

190 ~

188 ~

186

184

—&— FRV

37.5

40.0

42.5

45.0

day

47.5

50.0

52.5

55.0

57.5

. 6498 -

. 6496

. 6494

. 6492 -

. 6490

. 6488

. 6486 -

—@— FRC

37.5

40.0

42.5

45.0

day

47.5

50.0

52.5

55.0

57.5



400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

80

70

60

50

40

2500

2000

1500

1000

500

2.5

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

0.4

0.2

Plot [['1I", "lopt’], ['T, "Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAl', ’optEtRate’]
i IX /-\\ I_‘VAVA‘ NJI'\UA\-/\\_F. \\ — :opt 3
.
avee v 11TV U el i I ——
VAR 1
E : /\,/\,-/\/“-’\/‘V"\ : Lpt
| [ CTWIN
A AN S \'d\'\\
A — A A =
I ALY
LIJ AARY/A |
i . NU/ \ \AA\%\//\VA/\/\/A\
S
: n. A A dr\ — ETcl
i { W/! ——— optETcl
s W,
i SN
N i N——
/;//—’—d\ — LAl |
/ / i \¥
E /’\ —I optEtRate
Ty L P A A
W Wan (I MOV !
| |VY




Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-9 0
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P3-9

BfiE) | BB (F) | EdiE (EHA/HK) [ XR R

07:20 283 150.0 5| FHEAe07:20 KEFEF (KRAEEEE)
08:00 283 150.0 5| THAe08:00 KENFERF (RFI1EREE)
08:40 283 150.0 5| THR08:40 KRENFEF (KFIRELEE
09:20 283 150.0 & FiHfe09:20 KEFEF (KRFEERES)
10:10 283 150.0 5| THAe10:10 KRENFERF (RE1EREE)
10:55 283 150.0 | FiHfe10:55 REEF (KEERSR)
11:35 283 150.0 5| TiHfe11:35 RHERF (KREAERSH)
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13:25 283 150.0 5| TiHfe13:25 RHERF (KREAERESE)
14:05 283 150.0 5| Tffe14:05 KENFERF (RE1EREE)
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15:30 283 150.0 5| FiHRe15:30 REIEF (KREERSE)
16:25 283 150.0 5| THR@16:25 KRENFERF (RATRREED)
H2it]3962.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.6

[E;&REC 6447.0 K5, EiNF{KECAR & M%ER
HERECE (2323.0 vs 6447.0) 15
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P3-9_0, Day=57 (2025-05-29)
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P3-9

BfiE) | BB (FD) | ElE (ER/HK) (XK R
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40.

39.

39.

38.

42.

41.

41.

40.

40.

39.

42.

42.

41.

41.

40.

40.

39.

43.

42.

42.

41.

41.

40.

m=495, FV0=0

—— MW

560 565
m=675,n FV0=0

—— MW

GéO 6é5
m=820,n FV0=0

—— MW

820

Bé5 850
m=980,n FV0=0

-— MW

980

985 990

41.

41.

40.

40.

42.

41.

41.

40.

40.

43.

42.

42.

41.

41,

40.

m=535, FV0=0

—0—

MW

535

5&0 5&5
m=710,n FV0=0

—0—

M_W

710

7%5 7é0
m=855,n FV0=0

—0—

M_W

855

860 865

41.

40.

40.

39.

39.

38.

42,

41.

41,

40.

40.

43.

42.

42.

41.

41.

m=590, FV0=0

K

e

590

595 600
m=745,n FV0=0

—o— MW

745

7%0 7%5
m=890,n FV0=0

—o— MW

890

895 900




hour

:00 -
:05
145

:05
145
125
:00
:35
110
:45
120
:55
:30
110
120

100

80

- 60

- 40

WA R WA
Fed a8 @& S
Q VX X

T

§_

7
L e
N
4
2

%

N
“%

2

o
-



P3-9

BfiE) | BB (FY) | E¥E (ER/HK) [ XKR R

07:05 283 150.0 |[Z=| 1Ri%@07:05 Bzh (KAHEESE)
07:45 283 150.0 | =| 1Ri%e07:45 Bz (kBEREEE)
09:10 283 150.0 & =| 1Ri%@09:10 Bzh (KRABEREEE)
10:05 283 150.0 (& =| 1BRi&e10:05 Bzh (REERSE)
10:45 283 150.0 (ZZ=| {Ri&e10:45 B (GRAfRESE)
11:25 283 150.0 | =| 1Rige11:25 Bz (GRAHERESE)
12:00 283 150.0 & =| 1Ri%@12:00 B3h (KRAHERESE)
12:35 283 150.0 | =| 1Ri%e12:35 Bz (kAEREEE)
13:10 283 150.0 FHl 1BRige13:10 Bzl (GRAERE)
13:45 283 150.0 FA| 1Bi&@13:45 B3h (RAFEREE)
14:20 283 150.0 FA| {Ri%@14:20 Bz (GGRAEREE)
14:55 283 150.0 FH| 1Bige14:55 Bzl (GRAEREE)
15:30 283 150.0 (& =| 1Bige15:30 Bzh (REEREE)
16:10 283 150.0 | =| 1Ri%e16:10 Bz (kAEREEE)
17:20 283 150.0 (& =| 1Ri%e17:20 Bzh (GRBEREEE)
=it] 4245.0 (15)%) 2250. 0 3203 KEC: 2080.0, PH: 5.6

HERRHEME STEAERT (184.0 : 147.0), AIgEMF—RE XAH45
BRI\ SEPRERL147.0 ml.

[&REC 5535.0 K5, EiNF{RECAE&HRER

#H[EHECE (2393.0 vs 5535.0) 145



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=55 (2025-05-27)

1MfF———————T—————_—— ] - 3000
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576
2057 2100 058
100 11700 773 2000
374
50 - 1000
00 Warning: lcol [FVI',| "FVO’'] missing 80
0 -0
900 4 ===V — ME #52
FRV maxM
T S ——————— = \ A —) - . Vi S| [P S .. S S| B ———— - 50
1 “l
100 A = s —= == = L 48 =
N HERRALARIAEEEN »
1.0 I I I I_I_I_I_LLI_I I 44
1
0. 8 A
0.6
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6
0.4
0.2
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6
0.4
0.2
Warning: lcol ['PHB’,| 'PHC’'] missing
208 5 7
Bylni‘t:@D57 01:55: ET=2048 Fg=2400.0 Ro=497.0 ?3000
300 ~
R
- 2000
200 -
100 - - 1000
0

400 75T 2 | 3 [ a5 T 6] 789 [to]Ji1i[12]@]14]15[16[17[18] 19207212723
2n|Zn| 5 [ BB | B | |5 [ | |k | i5 (B | RE | "5 | W5 [ A5 | RE | R | RS [ BE | RE | RS | S | BS | 3000

B B
300 - i
ByEt @D55 19:09: ET=1959 Fg=2058. 0 Ro=nan I
900 P - - 2000
i — S |
1 1 11 ) l
100 A i 1000
1
S m— a— I I I ]\\:\\\
400 T=G5-T 1 21312415161 7789 1011 ]2 3[4a]nBli6] 78] ]2/ 2i]2]2]°

L\ B R | B R\ ZE(Z |55 B |SE(Z2 |55 (25| B | B | BR[| EE |2 (55 |%5| 5 | BB [ B5 3000
]
ByWoFv :@D57 01:55: ET=1773 Fg=2250.0 Ro=478.0 e—0o——o—o

| . - 2000
l ———

100 ! 211 - 1000
1

TR
S iy
%

0.6

300

200 -

0.4+

0.2~

|
| _obs
PPFD_obs

—— RH A
80 -
o RH_obs
o RHo_obs
60 -y

40

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



50.

50.

49.

49.

48.

48.

47.

52.

51.

51.

50.

50.

49.

49.

52 4 —@— ME

50 -

48 -

46 -

T
600

860
m=595,n FV0=0

T T
600 605

m=770,m FV0=0

50 A

49 ~

48 -

47 -

775 780

m=920,m FV0=0

925 930

52.

52.

51.

51.

50.

50.

49.

m=460, FV0=0

48 -

47 -

46 -

45 -

T T
465 470

50

49 -

48 -

47 -

51 4

50

49 -

48 -

——

m=645,n FV0=0
6%0 665
m=800,n FV0=0
865 8%0
m=965,n FV0=0
9%0 9%5

50.

49.

49.

48.

48.

47.

47.

51.

51.

50.

50.

49.

49.

48.

52.

51.

51.

50.

50.

m=495, FV0=0

560 565
m=695,n FV0=0

49 -

48 -

47

760 765
m=835,n FV0=0

8&0 8&5
m=1020m FV0=0

——

1025 1030

m=545, FV0=0

50. 5 -

50. 0

49.5 A

49.0 A

48.5 A

——

5%0 565
m=735,n FV0=0

50

49 -

48 -

47 -

——

7&0 7&5
m=875,n FV0=0

51.5 4

51.0 -

50. 5 A

50. 0 -

49.5 A

49.0 A

875

880 885

800




38.

37.

37.

36.

36.

35.

40.

40.

39.

39.

38.

38.

42.

41.

41.

40.

40.

42.

42.

41.

41.

40.

m=460, FV0=0

M_Ww

4é5 4;0
m=645,n FV0=0

460

—— MW

i

6%0 655
m=800,n FV0=0

—— MW

865 8%0
m=965,n FV0=0

800

-— MW

it

965 970 975

40.

40.

39.

39.

38.

38.

37.

40.

40.

39.

39.

38.

38.

42.

41.

41.

40.

40.

42.

42.

41.

41.

40.

m=495, FV0=0

M_W

560 565
m=695,n FV0=0

760 765
m=835,n FV0=0

—0—

M_W

835

8&0 8&5
m=1020m FV0=0

——

M_W

1020

1025 1030

41,

40.

40.

39.

39.

41.

40.

40.

39.

39.

38.

38.

42.

42.

41.

41,

40.

40.

m=545, FV0=0

—0—

M_W

545

550
m=735,n FV0=0

T
555

—o—

M_W

735

740
m=875,n FV0=0

T
745

—0—

M_Ww

875

880

885

m=595, FV0=0

41.0 A

40. 5 A

40. 0 -

39.5 4

39.0 A

38.5 -

—— MW

595

660
m=770,n FV0=0

T
605

41.5 -

41.0 A

40. 5 A

40. 0 -

39.5 A

39.0 A

—— MW

770

7%5
m=920,n FV0=0

T
780

42.5 A

42.0 -

41.5 A

41.0 A

40.5 -

40.0

39.5 A

—o— MW

920

925

930




hour

105 -

:00

115

:00

145

:30

115

:00

100

80

- 60

- 40

§_

&
%
&
4,
%
)
%
&
N
xe,%\
T
Y
%

@f%$
%
%

%

3,



P3-9

BrE) | GEBAK (3 | ERE (EH/R) (XS R

07:00 288 150. 0 E[  BRi%e07:00 Ba1 (RAERSE)
07:50 288 150.0 F[ BRi%e07:50 Ba1 (GRAERE)
09:20 288 150.0 5| 1Ri&e09:20 B (REAERES)
10:15 288 150.0 | =| 1Ri%e10:15 Bzh (GRAEREE)
11:00 288 150.0 S {Ri%e11:00 Bz (GRAERSE)
11:45 288 150.0 =l RRiB011:45 Bz (REAKEEE)
12:30 288 150.0 | 1Rike12:30 B (KAL)
13:15 288 150.0 5| {Ri%e13:15 Bz (GRAERSE)
14:00 288 150.0 =l RRiB014:00 B (RFAEEE)
15:00 288 150. 0 F BRi&e15:00 Bz (GRAEREE)
16:15 288 150.0 =l RiBe16:15 Bz (RAEESE)
23t 3168.0 (113%) 1650. 0 3 3FKEC: 2080.0, PH: 5.6

WERRHEME STEAERT (187.0 : 144.0), AIgEMF—RE XAH45
BRINSEPRERL144. 0 ml.
#[EKECE (2370.0 vs 4955.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=54 (2025-05-26)

150 m———e e ———
VI, VB8RV ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2000 2057
i - 2000
100 oo 1700 584
316
50 - - 1000
80 Warning: lcol [FVI',| "FVO’'] missing 00
0 + -0
( #52
200 A
150 - 50
-
100 r48 =
50 - 46
1.0 44
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
800 5 i 3000
Bylnit:@D57 01:55: ET=1689 Fg=2100.0 Ro=447.0
1
200 A | - 2000
1
1
1
100 I - 1000
1
1
—©
300 3 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 -9000
5 | i | g | Bg | g | G| G| BE | G | P i 5 5 5 i 5 5 5 i 5 5 5 i 5
1
200 4 ByEt @D54 19:12: ET=1426 Fg=1617.0 Ro=nan // : L 2000
AT 1 e T R (R
100 - : - 1000
1
¥ I
—o—0—0 60— —o_ \_:\
300 3 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 -9000
i | B | B | BB | BB | Bl B|B|B|KI|Z2c] B 5 5 i 5 5 REEARES A REEREA R
1
200 4+—ByWoFv :@D57 01:55: ET=1316 Fg=1650.0 Ro=329.0 L 2000
| R
1
100 I - 1000
1
1
1.0 f4—= s ——_— = e 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
osl fE | M [ BF | 5 |5 [ BE | f5 [ B | HE |’ [ | HR 5 5 i 5 5 5 |Z=|XW| BB |B5=|Z2=] B
0.6 -
0.4 1
0.2 A
0.0
1500 1 —_ A
[ ] | _obs
1000 - —@— PPFD obs
500 -
RH
404 @ RH_obs
[ ) RHo_obs
3_

hour

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



50.

50.

49,

49.

48.

48.

47.

50 -

48

46

T T
600 800

m=595,m FV0=0

T T
600 605

m=785,m FV0=0

50 A

49 -

48 -

47

42 -

40 -

38 A

36

600 800

m=445, FV0=0

49 A
——
48
47 -
46
45 L T T T
445 450 455
m=650,m FV0=0
——
50
49
48 -
47 -
T T T
650 655 660
m=830,m FV0=0
——
50 -
49
48 -
47 -
830 835 840
m=445,m FV0=0
39 4 &
38
37 -
36 -
445 450 455

m=495, FV0=0

50. 0 -

49.5

49.0

48.5

48.0

——

560 565
m=705,n FV0=0

50 A

49

48 -

47 -

46

7iO 7%5
m=880,n FV0=0

51 1

50 A

49 -

48 ~

8é5 850
m=495,n FV0=0

41.0

40.5

40.0

39.5 -

39. 0 -

38.5 -

——

500 505

m=540, FV0=0

50. 5 A

50. 0 -

49.5 A

49.0 A

5&5 560
m=745,m FV0=0

50 -

49 -

48 -

47 -

760 7%5
m=950,n FV0=0

51.5 -

51.0 A

50. 5 A

50. 0 -

49.5 A

49.0 A

950

41.5

955 960
m=540,n FV0=0

41.0 -

40.5 A

40.0 A

39.5 -

540

545 550




41.

40.

40.

39.

39.

38.

41.

41.

40.

40.

39.

39.

m=595, FV0=0

—o—

M_W

T
595

6(I)0
m=785,n FV0=0

T
605

—o—

MW

T
785

T
790

795

41,

40.

40.

39.

39.

38.

38.

41.

41.

40.

40.

39.

39.

m=650, FV0=0

—0—

M_W

T
650

655
m=830,n FV0=0

T
660

——

M_W

T
830

T
835

840

m=705, FV0=0

41 A

40 -

39 A

38 A

—o—

M_W

T
705

710
m=880,n FV0=0

T
715

42.0 -

41.5

41.0 A

40.5 -

40. 0 -

39.5 A

——

M_Ww

T
880

T
885

890

41,

41.

40.

40.

39.

39.

38.

42.

41.

41.

40.

40.

m=745, FV0=0

——

MW

T
745

750
m=950,n FV0=0

T
755

——

M_W

T
950

955

960




hour

:00 -
:00
145

110
:55
140
:20
:00
145
:30
115
110

100

80

- 60

- 40

WA R WA
Fed a8 @& S
Q VX X
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7
L e
N
4
2
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N
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2

o
-



P3-9

ByiE) | GEBIETIC (F)) | EHME (BAH/K) | XS ERE

07:00 294 150. 0 E BRi&e07:00 Bzl (RAERE)
07:45 294 150. 0 5| 1Ri%e07:45 B CGREMEREE)
09:15 294 150.0 =l RRiB009:15 B (RFAKEE)
10:10 294 150.0 S {Ri%@10:10 B3 (RAERSE)
10:55 294 150.0 El 1BRi&e10:55 Bz (GRAERE)
11:40 294 150.0 5| Rike11:40 Bz (REAERS)
12:20 294 150.0 Sl {Rige12:20 B3 (RAERSE)
13:00 294 150. 0 F BRi%e13:00 Bz (GRAERRE)
13:45 294 150.0 E BRige13:45 Bz CGRAERSE)
14:30 294 150.0 5| Ri&e14:30 B3 (REAERS)
15:15 294 150.0 E BRige15:15 Bz CGRAERESE)
16:10 294 150.0 5 {Ri%016:10 B3 (GRAERKSE)
24t 3528.0 (12)%) 1800. 0 32K EC: 2080.0, PH: 5.6

HERRHEME STEAERTS (191.0 : 147.0), AIgERF—RE XAH45
BRI\ SEPRIERL147.0 ml.
#H[ERECE (2323.0 vs 4537.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=53 (2025-05-25)

T e g g e S B S g g

100 A

50

200 -

150 A

100 A

50 A

VI, V&RV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET

1700

346

Warning: lcol [FVI',| "FVO’'] missing

- 2000

- 1000

80

0

452

- 50

- 46

L 44

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

]
Bytnit @57 01:55: ET=1661 Fg=2100.0 Ro=441.0

i 3000

- 2000

- 1000

all

1

5

6

T
[ =]
o
o
o

21 22 23

BB | B

i

[

i

[

5] B B 5] B B B 5] B B B 5]

E3 E3 ES
B B 5]

ByEt @D53 16:38: ET=1648 Fg=1878. 0 Ro=nan !

- 2000
——— e

- 1000

7 8 9 10 11 12 13 14 15 16 17 18 19

T
[ =]
o
o
o

21 22 23

BB | B

[

[

i

% | % | % | m% | @ | m | m|w || w|m @

E3 E3 ES
B B 5]

100 -

]
ByWon:@D57 01:55: ET=1473 Fg=1800.0 Ro=361.0

i

- 2000

- 1000

1.0

0.8

0.6

0.4+

0.2~

0.0
1500 {

1000 A

500 A

—_— 4
[ ] | _obs
—@— PPFD obs

80 -

60

40 -

RH
o RH_obs
RHo_obs

L
- 48 =

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=450, FV0=0 m=495, FV0=0 m=5395, FV0=0

52 4 49,5 50. 0 -
—o— ME 47.54 —@— ME : - ME —o— ME
49.5 -
47.0 - 49.0
50 -
46.5 - 48.5 49.0
i 48.5
48 - 46.0 48.0 4
45.5 48.01
47.5
46 - 45.0 4 47.5
47.0
44.5 47.0
T T T T T T T T T T T T
600 800 1000 450 455 460 495 500 505 555 560 565
m=610,m FV0=0 m=655,m FV0=0 m=700,m FV0=0 m=740,m FV0=0
50 -
— - 501 —@— ME - ME —o— MFE
50 -
49 50 1
49 -
49 -
48 - 49 -
48 -
48 -
47 - 48 -
47 -
T T T T T T T T T T T T
610 615 620 655 660 665 700 705 710 740 745 750
m=780,m FV0=0 m=815,m FV0=0 m=860,m FV0=0 m=905,m FV0=0
51 - 51-57 51.5 -
- MF - MFE : —o— ME | 5 5] —o— MFE
51.0 1 51.0 4
51.0 -
50 1 50. 5 - 50. 5 -
50. 5 -
50. 0 - 50.0 1
49 - v 50.0 -
49.5 - :
49.5 -
49.0 49.07
48 - ' 49.0 -
48.5 -
780 785 790 815 820 825 860 865 870 905 910 915
m=950,m FV0=0 m=1010m FVO0=0 m m=450,m FV0=0
—o— ME —o— ME 4214 —@— MW 391 —— MW
51.5 -
51.5 -
51.0 -
51.0 40 38 1
50.5
50.5 - .
50. 0 38 1
50. 0 -
49.5 36
49.5 36 1
950 955 960 1010 1015 1020 600 800 1000 450 455 460



40.

40.

39.

39.

38.

38.

40.

40.

39.

39.

38.

38.

41,

41.

40.

40.

39.

39.

m=495, FV0=0

—— MW

495

T T
500 505

m=700,m FV0=0

—— MW

T T
705 710

m=860,m FV0=0

—— MW

865 870

40.

40.

39.

39.

38.

38.

41.

40.

40.

39.

39.

42.

41.

41.

40.

40.

39.

39.

m=535, FV0=0

—— MW

555

T T
560 565

m=740,m FV0=0

—— MW

740

T T
745 750

m=905,m FV0=0

—— MW

905

910 915

40.

40.

39.

39.

38.

38.

41,

41.

40.

40.

39.

39.

42.

41.

41.

40.

40.

39.

m=610, FV0=0

—— MW

610

T T
615 620

m=780,m FV0=0

—0— MW

780

T T
785 790

m=950,m FV0=0

—0— MW

950

955 960

40.

40.

39.

39.

38.

38.

41,

41.

40.

40.

39.

42,

41.

41.

40.

40.

39.

m=635, FV0=0

——

MW

655

T T
660 665

m=815,m FV0=0

——

M_W

815

T T
820 825

m=1010m FVO=0

——

M_W

1010

1015

1020




